


1. The messenger satellite launched 

by NASA is to study

(a) Mercury

(b) Venus

(c) Satrun

(d) Jupiter



Which of the following countries 

has recently become the third 

largest market for Twitter ? 

(a) China

(b) India

(c) Brazil

(d) Indonesia



Processor's speed of a computer is 

measured in

(a) BPS

(b) MIPS

(c) Baud

(d) Hertz

Million instructions per second (MIPS) is an 
approximate measure of a computer's raw 

processing power.



'C' language is a

(a) Low level language

(b) High level language

(c) Machine level language

(d) Assembly level language



Window 7, the latest operating 

system from Microsoft Corporation 

has .............. Indian languages fonts

(a) 14

(b) 26

(c) 37

(d) 49



The first computer made available 

for commercial use was:

(a) MANIAC

(b) ENIAC

(c) UNIVAC

(d) EDSAC

UNIVAC, in full Universal Automatic 
Computer, one of the earliest commercial 

computers.



A communication network which is 

used by large organizations over 

regional, national or global area is 

called:

(a) LAN

(b) WAN

(c) MAN

(d) VAN



Indian Army's Operation 'Saiyam' 

was related to :

(a) Kashmir

(b) Indo–China Border in the 

Central Region

(c) North–East

(d) Indo–Pak Border in Punjab and 

Rajasthan



In which of the following areas, a 

spreadsheet software is more 

useful? 

(a) Psychology

(b) Publishing

(c) Statistics

(d) Message sending



A Group Ware is a? 

(a) Hardware

(b) Network

(c) Software

(d) Firmware

Groupware is a class of computer software 
that helps members of a group work better 
together. Groupware makes it possible for 
group members to easily share information 
and to use that information to more easily 

support working together.



The transfer of date from a CPU to 

peripheral devices of computer is 

achieved through 

(a) interfaces

(b) buffer memory

(c) modems

(d) computer ports



Which of the following items is not 

used in Local Area Networks 

(LANs)? 

(a) Interface Card

(b) Cable

(c) Computer

(d) Modem





What is m-commerce? 

(a) machine commerce

(b) mobile commerce

(c) money commerce

(d) marketing commerce





Who invented the modem ? 

(a) Apple Computers Inc.

(b) Digital Equipment Corporation

(c) Wang Laboratories Ltd.

(d) AT&T Information Systems\



What is the name given to the 

smallest unit of data space available 

in a spreadsheet software 

application ? 

(a) Row

(b) Block

(c) Cell

(d) Pixel



An alternate name for the 

completely interconnected network 

topology is

(a) Mesh

(b) Star

(c) Tree

(d) Ring



Communication satellites are used to

(a) transmit communication signal only

(b) receive communication signal only

(c) receive and redirect communication signal

(d) provide information of natural resources 

only



What type of information system 

would be recognised by digital 

circuits ? 

(a) Hexadecimal system

(b) Binary system

(c) Both hexadecimal and binary 

system

(d) Only Roman system



Which of the following is an impact 

printe ?

(a) Daisy wheel printer

(b) Ink jet printer

(c) Bubble jet printer

(d) Laser printer



A television channel is 

characterised by

(a) frequency of transmitted signal

(b) velocity of transmitted signal

(c) physical dimension of television 

screen

(d) size of picture tube



Who is the founder of “Facebook” 

which is currently the No. 1 social 

networking website in India? 

(a) Orkut Buyukkokten

(b) Mark Zuckerberg

(c) Bill Gates

(d) Martin Cooper
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